mean # PXL hits vs eta

<pixel hits>

.....................................................................

* H H H H :
N o

mean # PXL Layers with measurement vs eta

<pixel layers> [

Ratio

N

w
[4)

wW

N
a

N

15

0.5

e iR e iR eeaeceeeasabeeesascaaeafeaneanaaaaatanaaaaaaan
e iR eieieieisabeeesaeeaeeabeeeaaeaaaaatanaaaaaaan
o S R
TN N T YT T YT SO T T T T AN T T T T A T T Y A Y O I |

<strip hits>

Ratio

14

12

10

1.

0.95

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew

step2_ttbar-phasel-newgeom

l_.

""ﬁ*f

=3

* .
#++++WWW+ H***##
=2

10 i 53

<strip layers>

Ratio

= DN W » 01 O N 00 ©

&

H

0.95L

.....................................................................

--fﬁﬁﬁm’f%ﬁwmﬁm*ﬁﬁﬂ #H*W%

=3

=2

10

1 2' 3




	Contents
	Page 1


